B23 Stainless

Model:
B23 STAINLESS - EU
B23 STAINLESS - UK

2010

Stuckliste Deutsch

09-02-2015

Nilfisk
ALTO

works for you

www.nilfisk-alto.com




Inhalt
B23 Stainless 2010

Ubersicht



- . 09-02-2015
Ubersicht

B23 Stainless 2010 3




Ubersicht

09-02-2015

ET-Liste-Nr.
B2302
B23 Stainless 2010 7
Pos Artikelnr. Me Beschreibung
1 7101406 1 LUFTVENTIL B9
2 7101414 1 SCHRAUBE F, EINFULLSTUTZEN
3 7101413 1 EINFULLSTUTZEN
4 7101424 1 ueberdruckv entil
5 7101412 1 GUMMIDICHTUNG
6 7101437 1 MANOMETER
7 31000192 1 NIPPLE
8 31000193 1 Nadelventil
9 31000194 1 Hochdruckschlauch
10 31000195 1 Pistolegriff Teilewascher
11 31000196 1 Ddusenrohr Teilewascher
12 31000197 1 Duse 1505 1/8 INCH
13 7101425 14 SCHRAUBE 3,5X12
14 31000198 1 Thermostat
15 31000199 1 CABLE GLAND M16
16 31000447 1 NUTM16
17 7101404 1 DREHSCHALTER, B9
19 31000448 1 INDICATOR LAMP
20 31000449 1 SWITCH
21 2758 3 Mutter DIN934-M8-6
22 7101402 1 HEIZKoeRPER, B9
23 7101439 1 ABLASSCHRAUBE, KOMPL,
24 1800465 2 Mutter DIN934-M10x1-10
25 1800317 4 Scheibe DIN125-A10,5
26 7101407 2 LENKROLLE M, BREMSE
27 32964 2 Sechskantschraube M10x 30 1SO 4017 zn
28 1800796 5 Scheibe 8,4
29 2753 3 Sechskantschraube DIN933-M8x20-8.8
30 7101409 2 WHEEL. COMPL. B9
31 7101428 2 HUB CAP
32 7101429 1 PFROPFEN, GROSS
33 31000450 1 STAR GRIP M8 X 25
34 7101401 1 AUFFANGWANNE
35 31000303 1 POWER CABLE WITH PLUG 3.3M RUBBER DK
35 31000304 1 POWER CABLE WITH PLUG 3.3M RUBBER UK
36 31000337 1 SUPPORT FOR WASH TRAY
37 31000338 1 SPRING AND WASHER KIT
38 7101416 1 O-RING




